PAY LENGTH = 37'-6"
Q-3 17'-2}*
. . 2 Welded
= Welded__ | "W" Beam not Shown for Clarity %” Expansion "W" Beam not Shown for Clarity **—15‘%0’ Cop
End Cop —] l=—4* 1 i T
5 . - - IZ.I Joint o IZ.I o
0§0 0]0 0{0 010 0{0
010 0{0 0]0 010 o o
~—1'-0" Minimum | T 1’=0” Minimur
O Post Spaces @ 6'-3
7\ — 85/_0//
6'-3" NORTH RAILING FACING NORTH (SOUT o3
|Verify Length 1

1'-9" PER
CONTRACT PLANS

)

3'=1”

|_6%” g3}
o

17 "y~ BOLTS,

—/\

NUTS & WASHERS

TYP. CONNECTION FOR RAILING TO POST
CURB & RAIL SECTION

3
1_
ol
6" ”J—'O
10r 27 g
L“““‘f
Verify Quantity
3//
22
(3x)
wWeEXeS Post
DETAIL 19 e o0

BILL OF MATERIALS |
DET. #| QTY DESCRIPTION MATERIAL
1 10 [ wéx25 FASCIA MOUNTED\POST @ 3’ 1 ASTM A572 [Gr 50
2 2 | TS8x4x3/16" TUBING @\20'-3> w/Cap ASTM AS500 [Gr B
3 2 | 7S8x4x3/16* TUBING @17'2-1/2> w/Cap | ASTM A500 [Gr B
4 120 | TS8x4x3/16* TUBING @ 67 ASTM AS00/Gr B
5 | 2 |C7x9.8 CHANNEL @ 2’ 7* (SPLICE) ASTM A572] Gr 50
|6 PX10) [5/8”x10* HEX BOLT ASTM A32Y
—7—3p(10) [ 5/8”x13” HEX BOLT ASTM A329
B2 [5/8"x1-3/4* HEX BOLT ASTM A323,
£C10) [ 3/16°x1-3/4"x3* SPECIAL WASHER ASTM @36
10N Y40 [ 5/8° HEX NUT ASTM A563
11 5/8‘ FLAT WASHER ASTM A436
12 40 [1/4°x2"x5* PLATE WASHER ASTM A572 Gr 50
13 6 |10 GAUGE “W‘ BEAM @ 12’ 6&* AASHTO M180-Cl B, TYPE 1I
14 64 |5/8°x1-1/4* SPLICE BOLT/RECESSED NUT | ASTM A307<, >
15 20 |“U” ANCHOR BOLTS N ASTM A449 |
16 80 [17 HEX NUT ASTM A563 |
17 80 |1 FLAT WASHER | ASTM F436 |
18 4 | DELINEATOR | ALUMINUM |
19 4 |[wex25 POST e &6-0* | ASTM A572[Gr 50

|(Round Head) }—I

Provide Tubing Details

linclude Nut Specification

ITEM_#: 900.640

CONTRACTOR: F R LaFayette - 27795

| SHEET 1 OF 2

| APPROVED BY:

JG

JS

June 13, 2013

YES Approved
6-28-2013

Spectal Provision Fascio Mounted Steel Bridge Rail

DATE DESCRIPTION

Town of Woodstock County of Windsor Bridge No. 13
. R [NO

.| DATE DESCRIPTION

BY|

5/28/13 | Added dec. W6x25 Pos) @ 60", onw for Eoch Comer [ D.L.

FELDERLEE,INC.

E—-Mail: dlong@elderlee.com

x “" OAKS CORNERS, NEW YORK 14518

Tel;315-789—-6670 Fax:3165-789-

D.L. 5/20/13

E.P. 6/20/13

" _APPROVED

deeen  SCALE SCHEMATIC

6615

[DRAWING NO. F R LAFAYETTE EM13.084R



jsalvatori
Callout
1'-9" PER CONTRACT PLANS

jsalvatori
Oval

jsalvatori
Oval

jsalvatori
Line

Jared Grigas (jared.grigas@state.vt.us)
Callout
Verify Quantity

Jared Grigas (jared.grigas@state.vt.us)
Text Box
Provide Tubing Details

rklinefelter
Callout
Verify Length

rklinefelter
Line

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Line

rklinefelter
Line

rklinefelter
Line

rklinefelter
Line

rklinefelter
Line

rklinefelter
Line

rklinefelter
Callout
Include Nut Specification

rklinefelter
Callout
(Round Head)

rklinefelter
Oval

rklinefelter
Oval

rklinefelter
Callout
A572 Gr 50

jsalvatori
StructuresShopDrawing


217

2'=-4" DETA'L 18 RETROREFLECTIVE SHEETING
Verify Numbers, -
Verify Included in 3
Quantities - | ~C7x98
ok I L
f 1 o R , : -
6" —1e H DETAIL PRIOR TO WELDING NUTS DETAIL 5 13
| , g
) o 4 | .. M- | Verify
10 == =
| o I $ { %__ _ :%.-J% \/— Number F—] -
(g%')/ 2 R — | DELINEATOR DETAIL
15 Verify Number,
/ o lige VeLpeD GveR HoLe's Verify Included in
Vexes”| L Quantities
53 @J 1 DETAIL 9
P14 x2*SLOTS, | v 37
s RAIL SPLICE HOLES 14 .
(HARDWARE NOT SHOWN FOR CLARITY) | ~1H1g
$ 0 4 - g3 1/4° SLD?\ 1 /"i\ 1%” Q
I | oparbongonanpanununudy sbugunpunpun Yungunfuupu e — X -T-=-=-CC p] |
I T/ TN T T | I 7.,
lﬁ'Jf N / \, | L L \Q, 1.
. g’ —— - —— - . [ — -—
33" DETAIL 1 i i SPECIAL WASHER DETAlL
| |

Remove all notes. These notes are from an
old standard. Add following notes from
Standard S-367A:1,3,4,5,6,7,8,9, 12

NOTES:

HEAVY DUTY STEEL BEAM GUARD RAIL SHALL CONFORM TO VAOT STD SPECIFICATION 732.

STRUCTURAL STEEL TUBING SHALL CONFORM TO VAOT STD. SPECIFICATION 732 AND SHALL BE GALVANIZED AFTER
FABRICATION IN ACCORDANCE WITH ASTM A123.

ANCHOR BOLTS, NUTS, AND WASHERS SHALL BE GALVANIZED IN ACCORDANCE WITH ASTM A153 AND SHALL CONFORM
TO VAOT STD SPECIFICATION 714 UNLESS OTHERWISE NOTED.

BRIDGE RAIL POST, SPECIAL WASHERS, PLATE WASHERS AND SPLICE BARS SHALL CONFORM TO ASTM A572 GRADE 50
AND SHALL BE GALVANIZED AFTER FABRICATION IN ACCORDANCE WITH AASHTO MIII.

ALL BOLTS AND RELATED HARDWARE SHALL CONFORM TO ASTM A325. BOLTS SHALL BE HOT DIPPED OR MECHANICALLY
GALVANIZED PER SPECIFICATION.

ALL POST SHALL BE SET NORMAL TO GRADE.

SPLICES FOR THE STEEL BEAM GUARD RAIL SHALL LAP IN THE DIRECTION OF TRAFFIC.

A DELINEATOR SHALL BE LOCATED AT EVERY FIFTH POST.

A RAILING JOINT SPLICE SHALL BE PROVIDED AT EACH SUPERSTRUCTURE EXPANSION JOINT.

' . ALL FIELD CUT OR DRILLED AREAS SHALL BE COATED WITH ZINC RICH PAINT.
. FOR RADII LESS THAN 950 FEET THE STEEL TUBING SHALL BE SHOP BENT TO FIT THE APPLICABLE CURVE.
. THE DROP-WEIGHT TEAR TEST IN SECTION 732 SHALL NOT APPLY TO THE STRUCTURAL TUBING ON THIS STANDARD.

ALL TS8x4x3/16" TUBING WILL BE DRILLED PRIOR TO GALVANIZE

ITEM #: 900.640

<—8 ”‘>

4

4//

i i

con——

DETAIL 4

s

16

3/4”"

(3%

BLOCK OUT DETAIL

2

D 5

¢1%._/

L

PLATE

b

WASHER DETAIL

1//
I

il

ASTM A36

3//

8//

16

WELDED ON END CAP

T

f

DETAIL 12

L

CONTRACTOR: F R LaFayette - 27795

| SHEET 2 OF 2

APPROVED BY:

JG

June 13, 2013
YES

RK

Approved

JS 6-28-2013

Special Provision Fascie Mounted Steel Bridge Roil
Town of Woodstock County of Wlndsor Bridge No. 13

R
E
v

NO.

DATE

DESCRIPTION

BY

NO.| DATE

DESCRIPTION BY]

1 5/28/13

hided 4a0. W6x25 Post @ 6'-0, one for Eoch Comer

D.L

FLDERLEE,INC.

OAKS CORNERS, NEW YORK 14518
- E—-Mail: dlong@elderlee.com
Tel:315-789-6670 Fax:315-789-66156

DRAWN

D.L. 5/20/13

) CHECKED

E.P. 5/20/13

== | APPROVED

HEMBER

ACTIVE S C A L E

SCHEMATIC

DRAWING NO, FRLAFAYETTE EM13-0684R



Jared Grigas (jared.grigas@state.vt.us)
Callout
Verify Number,
Verify Included in Quantities 

Jared Grigas (jared.grigas@state.vt.us)
Callout
Verify Numbers, Verify Included in Quantities

Jared Grigas (jared.grigas@state.vt.us)
Line

jsalvatori
StructuresShopDrawing

rklinefelter
Polygon

rklinefelter
Callout
Remove all notes.  These notes are from an old standard.  Add following notes from Standard S-367A: 1,3, 4, 5, 6, 7, 8, 9, 12

rklinefelter
Callout
Verify Number

jsalvatori
StructuresShopDrawing




